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greuredwed / BOTANY
(5D wHML Hymle eyl / Tamil & English Versions)

Cmyw : 3 wewfl | [ Quwrgs wHubuamser : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
Seemy @ (1) Soagsgy demssEsl sflurs udaurd o atargr aaTusman

sllurrsgs OQararerew. SFaludaller Gopulmutdea @ns
samsraniuureTfiLb o Leanqwrss Gsflellssey.

(2) Boob g smUY ewulenar L HGW e uEHEL LLIGTUIHSS
Geuam(o. ULmseT euanreusi@ CQueandle LwFUBSSL.

Instructions : (1) Check the question paper for fairness of printing. If there is any Jack of

fairness, inform the Hall Supervisor immediately.

(2) Use Black or Blue ink to write and pencil to draw diagrams.

LGS - 9 / SECTION - A

GOy : (1) Sjewengg lamssEns@n e welsseaw. 30x1=30

Note

(i) efwrer slevLmws CoipCsdss TWas.
: (i) Answer all the questions.
(i) Choose and write the correct answer.

crbfldgens srenar Grrenw Carpmpeils@n Crruyudif

(=1) eouflgCatlur geanrGe (=) QerCarevCGuryr QuisGerLm
(@) #rBCasrCureanren S (rr) FIBGom eneure

The pathogen that causes citrus canker is :

(a) Pyricularia oryzae {b) Cercospora personata

(¢) Xanthomonas citri (d) Tungro Virus
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2. SAUMSunimd Hriger erenuema :

(31) s HrifgeT () wra&@Baer

(@) -.yCermub BrirsaT () emses @GLEmseT
Libriform fibres are :

(a) Xylem fibres (b) Tracheids

(c) Phloem fibres (d) Vessels

3. wamw sraurtseErd sl Qufiw GELuW :

(24) +-GuCué () e Crél (@) NG (/) epaGwé)
The largest family of flowering plants is :
(a) Fabaceae (b) Asteraceae (c) Arecaceae (d} Rubiaceae

4. o Wmerer greur QEwliHBE WP STEUTSMS 2 (Heurs@G Hper :

(=1) wrYUTEH DL GO () 2 PUYSTTEHD

(8) upsCamdp 2 BauTESD (F) wsdpar Qupgeraraio

The inherent potential of any living plant cell to develop into entire organism is
called :

(a) Differentiation (b) Organogenesis

(¢) Morphogenesis (d) Totipotency

5. waflger e L Qardararssss eeulLibler Qafbs wrferser ordledmbs

swrfssuuBhdng?
(=4) BrevLTS (<2p) FravL
(@) smevmen () evenLimeSianm

From which organism, enriched vitamin tablets are produced for human
consumption ?

(a) Nostoc (b) Yeast

(c) Mushroom (d) Spirulina

6. "evldefev WermarrLryh” eremm mrene GQeusfludLeur :

(1) sravurBurable (=) Lmrireile

(@) LTOU eriigeTT () &Crreven eMemGanmiien
The book “Species Plantarum” was published by :

(a) Gaspard Bauhin {b) Darwin

(c) Adolf Engler (d) Carolus Linnaeus




7.

10.
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PLasERsGL GBrdseEss@nd Qe Cu e drer Qgr_eu sar_fbseurser :
(=1) edlflemev LHMID «LSlFrendlaticn

(2y) sur_gen oM &M

(@) Sy wHmbd Lr_Lb

() Cuisen wHmMW Y

The relationship between genes and enzymes was discovered by :

(a) Wilkins and Franklin

(b) Watson and Crick

(c) Beadle and Tatum
(d) Bateson and Punnett

HeanGararr i Glamrellen eremm greursHeafmpbs AuplLEL WEHHS :

(21) srenGLrefen (=) Sellenamen

(@) A _Grrenpuen () evlgrGureflwib
The drug which is obtained from the plant Cinchona Officinalis :
(a) santonin (b) quinine

(¢) atropine (d) stramonium

el OO QBLsre SmallhCapu Sewub graugsdar ufed Gewd
Qevaurny Si@wssLUREDg

(31) @aflrougend (=) pefi&seursd

(Q) gofls Cersama () gallEsrasseib

The response of a plant to relative lengths of light and dark periods is known as :
(a) Vernalization (b) Photorespiration

(c) Photosynthesis (d) Photoperiodism

2f&Casfl @QL1b Qupmerer euflens :

(1) wellQssavaCauden (=) uralGurafilCuicen
(@) eruQensCen (rF) srellfiCan
Arecaceae is placed under the series :

(@) Unisexuales (b) Polemoniales

() Epigynae (d) Calycinae
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11.

12.

13.

14.

15.

16.

4

uepenar ensad @Fe sraruu@Bdlng) :

(=1) @ dgdevaws srauy Qe () Qm sdenews sreur Ceur
(8) e dsfeaws sraur Caur  (7) Qm dsdexs sreur Gaow
The polyarch condition is found in :

(a) monocot leaf (b) dicot root
(c) monocot root (d) dicot leaf

Yerreumeuameudmier ergl Cy STeUTLD?

(1) Aped () Gargiaw  (§) &by () e(menar
Which one of the following is a C, plant ?
(a) Rice (b) Wheat (c) Sugarcane (d) Potato

wry FaGsssilaaL i BigUUML JREG :

(=) Qrésmen (=) Camren (@) Buyemenr (/) SHevlgyren
The unit of genetic code is :
(a) Recon (b) Codon (c) Muton "~ (d) Cistron

gamger @ramLrd floe eartéflulear Curg e meaurssuu@b urgsTly
S|(héHen Quw :

(=) upsGara (=) QuAGLD

(8)) eorCerQLmden () ooGuGamsen

The protective layer developed during the secondary growth of the stem is :
(a) epidermis (b) periderm

(c) rhizodermis (d) phellogen

flw vaflsgefssreurd eramugy :

(1) Sev&sLLLT (1) Lyadym (@) eumawrLm (/) efleva&d
Sundew plant is :
(a) Cuscuta (b) Drosera (c) Vanda (d) Viscum

greurslen semansg emuLsaflgid durgeurs sreriu®BL £& :

(=1) uryenensLLT () Cerrranension
() Csreenensom () evdlefyerensom
The tissue generally present in all organs of plant is : .
(a) parenchyma (b) chlorenchyma

() collenchyma (d) sclerenchyma
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17. FsmuULEs o Sepsstuihn urselur

() erev@Qaflflur Csmeld (=) Cudlawen gflgrlwendev
(@) &CLrCurenmen Ym (r) Cuéléaan erél.

The bacteria called as superbug is :

(a) Escherichia coli (b) Bacillus thuringiensis

(c) Pseudomonas putida (d) Bacillus lacti

18. Qaesgimer apleuass gramhieug) :

() padlen () Bogedlen

(Q) es CLrensafilen (F) oWHfs sfew
Closure of stomata is caused by :

(a) auxin (b) gibbrellins

{c) cytokinin (d) abscisic acid

19. grewm_uulL Qummsss Cariur® Geurred saplulLg :

(21) @en () <o Glagayir
(8) usenit () Gareagarerl
Induced fit theory was proposed by :

(@) Kuhne (b) Fischer

() Buchner (d) Koshland

20. DNA gpasgadlar edl b :

(=) 18 A ()20 A (@) 34 A (F) 35A
The width of DNA molecule is :
(a) 18 A (b) 20 A © 34A (d 35A

21. gLlu QauuwLTYsPEE THU BOEEMEFSSGL HMHT HhGSREED
2 o b ClFevaer
() senems smell Qedssr () yovadlssuniy GQadrser
(8) Hdsar Qaavser (/) Bruy Qedser

The cells which are helpful for the rolling and unrolling of the leaf according to the
weather change :

(a) Subsidiary cells (b) Bulliform cells
(c) Silica cells (d) Complementary cells

[ HmUys / Turn over




4693 6

MARCH 2015

22. Oyenr sraursden @eaewanoa, :
(21) wrHHea LNy (=) erdiflenewenioey
(@) Qmauflens Qanaweanoey () &ped Qanevuienios)
The phyllotaxy in Musa is :
(a) alternate (b) opposite
(c) distichous (d) spiral

23. ATP-en flens Hme Wamariyseilen cramentisens :
(1) genp (<) Gran( (@) wpeny
The number of high energy terminal bonds present in ATP is :
(a) One (b) Two (c) Three

24, @revpeL WEIEFUMUSE SreTULHib GHLULWD :
(1) wreoGeud (<) QererCené
(@) we-CurmiGw& () WO Csaél
Anthers are monothecous in the family :
(@) Malvaceae (b) Solanaceae
(c) Euphorbiaceae (d) Musaceae

25. @eawiy Gersemandsaly eNEFW
(2)1:7:7:1 (24)7:1:1:7 (@) 1:1:1:1
The coupling test cross ratio is :
(@ 1:7:7:1 ®) 7:1:1:7 () 1:1:1:1

26. @Qmsw Crri félsansssran WHHS

(1) 6Teo N fem (=) w@réaldlen (@) wrieGlen
The drug used to treat heart diseases is :
(a) Ephedrine (b) Digoxin (¢) Morphine

(/) mren

(d)

Four

(rF) 9:3:3:1

(d)

9:3:3:1

() DenQans

(d)

Ginseng,



27.

28.

29.

30.
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0 CUGLAGW GHWDLS sTeursden sef :

(=) Quirdl (<24) CLemu

(8) Qasww () CasAGurilev

The fruit of the members of Fabaceae is :

(a) Dberry (b) drupe

() legume (d) caryopsis

Caé sreursen @ mGern Quwi :

(=1) sismedl.umr Qe &r (&) QLsCLranr Symemgen

(@) flsav Gour rrisgenfley (/) eowCuorsr igar
Binomial of “Teak’ is :

(@) Acalypha indica (b) Tectona grandis
(c) Cissus quadrangularis (d) Mimosa pudica

Geneumeuaneupmier &ipnél eradyren sLgsellanCurg e husdwreus ersy?

(<) NADPH, wl_(w (<) ATP bl (pw

(@) NADH, wl (b (/) ATP wipmib NADPH,
Which one of the following is produced during cyclic electron transport ?
(a@) NADPH, only (b) ATP only

(c) NADH, only (d) ATP and NADPH,

gafléCsrsens fnllsar sremmOUUBILD :

(=) SflavCGL (2y) HaviGen
(@) esvasmi® (r) eviGpmor
The photosynthetic pigments are located in :

(a) Cristae (b) Cisternae
(¢) Thylakoid (d) Stroma

4693
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G@oluy : aemauGuenid udlenennbg eSlanésEnée denLweflssayLb.

Note : Answer any fifteen questions.

31.

32.

33.

34.

35.

36.

37.

38.

39.

‘LrlGurefln’ euenrwyy. erSHSSTLH SMHS.

Define tautonym. Give an example,

WOy Cefllien cuenaur () Hleveanw er(pg)s.

Write the systematic position of Musaceae.

HerrCLr® erammred eranan? rHSHEHTL(H S(HS.
What is cladode ? Give an example

DI Crrenuen eremmed eTemman?

What is atropine ?

LGV Gramre) eraa? ar(HSSISHETL(H S(Hs.

What is an eustele ? Give an example.

GusCappslan (psblusgiusms TS,
Write the significance of Crossing over.

DNA- eflén Qewaunr@semer GHUGHs.
State the functions of DNA.

Qsréved Sief LIHOW eranmTED erenan? THSEESTL(H S(H5.

What is a lethal mutation ? Give an example.

glan LIHMESTY 2 (Heursfwl QurLaaT gGsRUD apeTDlaaT eT(H5I5.

Write any three Genetically engineered products.

15x3=45
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41.

42,

43.

44,

45.

46.

47.

48.

49,

50.
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sreurs Sls awartLGnE LwaTBL G euetiiy esshsemar @GHLd(s.

Mention two media of plant tissue culture.

WP QsTdl erenmmed eremen?

What is holoenzyme ?

b geflulblargge erenmred ereman?
What is photolysis of water ?

s gallursvuflsrend abs GwHoasaid paLGuyAng?
State the conditions under which cyclic photophosphorylation occurs.

seurflgsadlan U Qurss swuauri oL TWss.

Write the overall equation of respiration.

GOUTE TG TGS GUETWIY.

Define respiratory quotient.

galiéseurss e d Quleunssdien 2 Caupurdseas sms.
Write the differences between photorespiration and dark respiration.

aianiédl SiLSEsET e erene? GrHSHEETH SHs.
What is a growth inhibitor ? Give an example.

GefifLugengdlen LG ET(IHEI6.

Write the advantages of Vernalization.

2.W0f 2 b erétuens ey,
Define biofertilizer.

ahlwepedlen erammed ereman?

What is humulin ?

[ HBUYs / Turn over
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UGSl - @ / SECTION - C

@iy : () eemauCuenb ep eflaméaens@ eflenL gma. eupmieT ellenT erer
55 -pE sLLnwwns deoLwaeallss Cousrin. 7x5=35

(i) Cgemauwrear QL msald UL UMTS

Note : (i) Answer any seven questions including Question No. 55 which is
compulsory.

(ii) Draw diagrams wherever necessary.

51. QapiGuflugden Wwadlwggeusms T(08IS.

Bring out the significance of herbarium.

52. e -CurmQGwéd @Hbusder Qummerrgry WeHwusseusams ReTé@s.

Explain the economic importance of Euphorbiaceae.

53. wré&d@ser unld HnEHluy uers.
Write short notes on tracheids.

54. Qnelsdaasd sraur Caumse. em isfmag sreur Caumsaw QoL Cu
2 aren 2 araranUblwd CougurHsemer er(pg)s.

Write anatomical differences between dicot root and monocot root.

55. Qmeisdaws sraur Goaular GnéE el (s CarHnsmsl LLWD b
UTSBISEET G,

Draw and label the parts of T.S. of a dicot leaf.

56. t- RNA- afléir UL euanrbhg Unshisamensd @
Draw and label the structure of t-RNA.

57. Seir wropsdan wadwusgeud LD eT(Pgs.

Write the significance of mutation.
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58.

greugsdle: euertulen Car_ur@seanar GHUY@sS.

Mention the principles involved in plant tissue culture.

59. safl Gee yrsw upd GHUY euanys.
Give an account of Single Cell Protein (SCP).
60. QuenGLmev urevGul ufissLsHen We&wggeusms eT(PEIs.
Write the significance of Pentose phosphate pathway.
61. ens GLreasaflen curpellwa ellenareysaer @MU s.
What are the physiological effects of Cytokinin ?
62. umsHullen QurmerrgsTy (WPEELSHUSDS T(HGHS.
Write the economic importance of Cotton.
u@S - 7 / SECTION - D
@Olly : (i) eremeuCuend wBrenE, ofamss@nss ol Hms. 4x10=40
(iiy Csgemeuwrar @Lmigafier LLL cuers.
Note : (i) Answer any four questions.
(i) Draw diagrams wherever necessary.
63. (1) QuBsD WHHWD e &aT eumslUT ger Hlapsamer erFs.
(31) Sfle 28 graureilwd Quur GLBHF sLLSHer p&dw SjbshseT RH)
GUNICES
(a) Bring out the merits of Bentham and Hooker’s classification of plants.
(b) Write any five salient features of ICBN.
64. Q&Ceumyr sréallaflureme smad Cerpsarre eSleufl. wefler eueyuLb
eUENPhG!, WL GUMILILINLIGERET 6T (LpG). ‘
Describe Ixora coccinea in botanical terms. Draw the floral diagram and write the
floral formula.
A [ &miys / Turn over
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65. QeisHons sraurs saTRPEGL, BB sfos srar sEyHED G Cu
o arem 2-areremodwe GeumpurBsenst eT(9sis.

Worite the anatomical differences between dicot stem and monocot stem.

66. GCTTCLICHTL ey Ypl Hllen eumssmen ellaTéGEs.

Explain the chromosomal aberration on the basis of its structure.

67. greauTsHla euetUblen LWeNEET Wreneu?

What are the outcomes of application of plant tissue culture ?

68. sraellen aHAuie Bapd eleameansemer elleufl.
(eFeTEED VDG GUENTULLD)
Write an account on Calvin Cycle.
(Explanation or flowchart)

69. devensarelfladier e Qumn LaGaum Ugser 6leTsEs.
(eflen&Ead DG cUETLILLD)

Describe the sequences of reactions in glycolysis (Explanation or flowchart).

70. “‘QsrLifuwe SO MausTub G GYR® B ellausru PanUTGD”
- ellensEs.

‘Sustainable agriculture is an eco-friendly farming system’ - Discuss.
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